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2.2 Using the Tangent Ratio to
Calculate Lengths

1. Determine the length of XY to ‘ on '
——

the nearest tenth of a centimetre.,
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2. Determine the length of VX to

the nearest tenth of a centimetre, -&Qh 6 - ?-EE
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A searchlight beam shines vertically
on a cloud. At a horizontal distance
of 250 m from the searchlight, the
angle between the ground and the
line of sight to the cloud is 75°,
Determine the height of the cloud 1o
the nearest metre.

line of sight




3. At a horizontal distance of

200 m from the base of an %ﬂﬁeh m

observation tower, the angle

between the ground and the df.‘lj
line of sight to the top of e
the tower is 8°. How high is -~ q ‘ '&l""l{i] = ?T
the tower to the nearest o
metre? The diagram is not 200 m
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